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Question 1

a. 
[image: image1.wmf]  

y

=

2

x

2

-

1


   
[image: image2.wmf]  

=

(

2

x

2

-

1

)

1

2


Method 1

[image: image62.wmf]P.O. Box 1180

Surrey Hills North  VIC  3127

Phone 03 9836 5021

Fax  03 9836 5025

info@theheffernangroup.com.au

www.theheffernangroup.com.au

THE

GROUP

HEFFERNAN


[image: image3.wmf]  

dy

dx

=

1

2

(

2

x

2

-

1

)

-

1

2

´

4

x

=

2

x

(

2

x

2

-

1

)

1

2

=

2

x

2

x

2

-

1


(1 mark)
Method 2
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b.
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Question 2
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Question 3

a. 
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         (1 mark) – correct rule
(1 mark) – correct domain
b. i.
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ii. 
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Question 4

a. Note that since variance = 4, standard deviation
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b. 
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c. 
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Because of the symmetry of the normal curve,
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Question 5
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(alternative answer   
[image: image30.wmf])

,

2

3

      

so

,

6

2

Z

n

n

x

Z

n

n

x

Î

+

-

=

Î

+

-

=

p

p

p

p


Question 6

a. We have a binominal distribution where 
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 (1 mark) – recognition of binominal distribution

(1 mark) – correct answer
Method 2
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(1 mark) – recognition of binominal distribution

(1 mark) – correct answer
b.
Let the number of orders placed at the drive-through be n.
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Two orders need to be placed.

Question 7

We are looking for 
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Question 8
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To Show:   
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as required.
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Question 9
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Question 10

The period of the graph of 
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Question 11

a. Since the graph of 
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Method 2
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